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45 44 36
4,300 4,300 4,000
3,956 3,889 3,839
90 90 90
91 95 92
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120

12y

99
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142
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88

88

88
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0 0 0
0.0% 0.0% 0.0%
0 0 0
2 2 2
2 2 2
6 6 6
6 6 6
4




| 1040080 002
4,000 6,000
4,000 6,000
285 105 180
1,292 40 1,272 40 644 20
0 0 0 0 606 60
192 40 200 40 208 40
1,484 80 1,472 80 1,458 120
1,116 1,040 1,498
1,116 1,040 1,498
0 0 0
0 0 0
c 0 0 0
D =B+C 1,116 1,040 1,498
£ =AD 2,600 2,512 2,956
0 0 0
0 0 0
0 0 0
1,116 1,040 1,498
0 0 0
1,116 1,040 1,498
E 1,484 e 1,458




406,407 402,965 401,294
0 0 0
0.0% 0.0% 0.0%
4 4 4
175 175 285
212 203 289
290 270 259
286 231 173

(@] O

116 173
2 1/4
23 509 5 173
23 2,107 5 951 54.9

24




| 1040080 003
16 1,359 12 15 203
21,480 665 ity 665 21,413 665
5,356 520 5,252 520 5,252 520
240 50 250 50 260 50
27,076 1,235 26,649 1,235 26,925 1,235
10,966 12,343 12,264
4,307 4,307 5,808
810 1,097 910
430 520 429
c 0 0 0
D =B+C 10,966 12,343 12,264
£ =A*D 38,042 38,992 39,189
0 0 0
0 0 0
0 0 0
10,966 12,343 12,264
0 0 0
10,966 12,343 12,264
E 27,076 26,649 26,925




406,407 402,965 401,294
0 0 0
0.0% 0.0% 0.0%
67 66 67
447 394 354
477 367 295
53 52 45
30 27 19
o o
H20 73.6 - H25 64.1 - H30 56.3 - R5 19.3




